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State whether the following Statements are True or False. If false, correct it.
oeobr QlzsloOm OconJd eozrr5E eeen>Q1E qnlOm. E€oztr5 zrr@ 6O1dQ zs:d qalOrrfil.

x ceB @C>zrco p I eeee@oc8 EOgfcocozoJ m@, Var (X) eol@ 8OO Om
qcocenl coE.

If X is random variable with mean p,Yar(X) is always positive.

O>cejdcozor O@coco eA€ ereeO Ort Oseoco?tf O>ceia oO o@ O::r
zo'2OzorzlcOcenJ oO.
A longer tail to right means distribution is positively skewed.

iii. A eso B coa 898@ oqztr qo?t)sJrrl> Ooocoaf OEedzocd SgOO oqzsrzo'l zrr@

OnJozoi A ooC B 8g8o@ eegocEzrcOce P (A) P (B ) EBal qalOc 8.
If two events A and B are mutually exclusive the probability of occurrence
of either A or B is given by P(A)P(B).

iv. gdoccoo oSOcoOaJ eoeo@tocO 8Og>cozo: qee@urcO> @C>zrcooco8 to186O
Eeiard zod8
Regression line describes conditional mean behaviour of a random
variable.

v. ednl@el gedncdce (Histogram)dQ eoOarmd.
Histogram is a bar chart.

vi. eo99zl oqCeoco c0€ eooO)5cdcozo esgocOnc O>cejdcozo OOg>ncOoc$
edOocOce 8€aq O@O6.
The standard error is a measure of the variability of a probability
distribution of a statistic.

vii. EOgm gooe€rzoco EAA EaJn zsrc<dO b2€ EOg>nrcOood aiOtocOce

eo.oo?tfQ6co eeqarc ggg oO.
The Coefficient of variation is appropriate for comparing the variability
within different data Sets.

viii. ee@@zrr goco9mce orc eo9@zl oqCeoco EOg>zi:cO @(6O eoqoc orcEzlc zodp
eroD.
Standard deviation and standard error are used to measure variabilitv.

l.

It.



ix. eiutroao6)rod8-q m@,6co1Q 9O>arcsoco8 O>cei6co g@zl Oco alzs'r.

If population is binomial, distribution of the sample mean could be a

normal.
x. ar@toc8nc qoco 0.05 O OOc O18 m@ qgddoc$co zolglSorco gdnlodo zorg

6t8.
If probability value is greater than 0.05 we can reject the null hypothesis.

a. ersrb eoqal:rf eo@ocEnc Or:cd6o: eoezolc Ogrrfal.
Consider the following probability distribution.

X P(x) xP(x) x'P(x)
I 0.2
2 0.2s

-) 0.4

4 k
5 0.05
Total

9e)
ct6zt)

\4,1=-- Z*p(*) = ----

11.

I11.

lV.

k oeocc^::rJzl.

Find k.
Eed rrlrri gdOofzrr.
Fill the blanks.
O>cei6co ooE@O Edes eB goddcdconl qQrrJtr,l.

Draw vertical line graph to illustrate the distribution.
P(2<x<5) oeocco:rJar.

Find P(2<x<5).

(03 marks)

(10 marks)

(04 marks)

(03 marks)

3.a. eJarOcB 3,2005 - oelOdOc6 28,2017 zorcg EOoO Ae 6 e"zocoO d18cog eoqoc

E6@co qgeicn oQzrrzil (q1@6zocp oOcgS @@com, Oa9Oo5@cocp oOcgS)
O>cei6cs es:cn Qa esOaromE ooafp@ zord q1zl. eooO)sc?i'r @p@ alc8rlc zod@rrJ

069c0 qeoo?r oqoni 011889 eoeoqc Ogrrfar.
Distributions of two daily exchange rates (USD, AUD) of Sri Lankan

nrpee for the period of Jan 3,2005 - Feb 28,2017 are shown in the following
figure. Compare the two exchange rates behavior using statistical measures.

( 10 marks)



- 
RSAUD ----F RSUSD

b. etozt eoEalztJ @alt6r,261ocEnc zs:6@zrf @ g.zorcoD E6@o qpoczt O>cejdooi gOc:l
enlo6 Eoin:d zodnfzl
Describe the main features of the exchange rates distributions of Sri Lankan rupee

using the following information. (10 marks)

Mean
Median
Maximum
Minimum
Std. Dev.
Skewness
Kurtosis

Jarque-Bera
Probability

Observations

RSAUD
103.1014
103.7150
139.7100
65.40500
17.68906

-0.057091
2.148525

90.25703
0.000000

2935

RSEURO
154.4882
1 57.1 500
181 .8600
1 18.9000
15.24162

-0.572581
2.652173

175.1681
0.000000

2935

RSGBP
1 96.1 800
195.1650
233.1050
155.4450
17.04214

-0.01361 1

1.894150

149.6417
0.000000

2935

RSUSD
I 19.7330
114.2350
152.2650
98.20500
14.17200
0.484447
2.070580

220.4404
0.000000

2935

4. X toc Y esqerc O{O eo@oc06rc

The
O>ceidcenf etarzrr qnlOc q1zl.

of X and Y is shown in the fo le.nt orobabilitv distribution of X and Y is shown in the followine Tab
X

Y
X1 X2 X3

Y1 0.1 0.1 0.1s
Y2 0.05 0.1 0.2

Y3 0.1s 0.1 0.0s



4

i. X oc Y eeqoc qcrridzor O>cei6co oescc,scztfzt.

Find marginal distribution of X and Y. (5 marks)
ii. E(X) toc V (Y) oeecco?tfm.

Find E(X) and V(Y). (5 marks)
iii. X toc Y odOccoaln q?

Are X and Y independent? (5 marks)
iv. (Y1lx2)oeecco?tfm.

Find (Y1lX2). (5 marks)

\ t 5. a. oa eeon eoqtozrl6o@cerrJ 96?tJ qq?tai zsrdaforrf zq@nlq?

Y What do you mean by the following terms?
I i. Bayes'goocece

Bayes'theorem
ii. geo@ocOce ee@oc8zlcO

Conditional probability
(6 marks)

b. zo5@caJar cacgcOzo 6?tJg e?tz6'J, (M1, M2, M3) 8@oo€ttJ 9d
agfa dda3cqzr:ocoaf Scoc^ro 25,35 eoo 40 nJ ocooco?tf ddocqarco zo:d8.

@Q:rlocrJ eo@ain 6@1Bo@o-f ScecoO 5, 4, e,xn 2 zor 8@oO@zrf oqCeo eoEr:
oo. dnJ acfaconl qar$ oges oarCdcoo?t 6oOm qnd 8co oqCeo eoEn Oo
oeoccoc ocozt qrb. o99 oqCeo eo8n OglOco csrrlg Ml, M2 eeto M3 ESrrJ

6oq8o@ ee@irc8ncOcozd ozorco@6q?
In a factory three machines,( Ml, M2, M3 ) manufacture 25,35 and 40
percent of the total production of Buibs respectively. Of their total output
5,4, and2 percent are defective respectively. A bulb is selected randomly
and is found to be defective. What are the probabilities that the defective
was manufactured by the machines Ml, M2 and M3?

(14 marks)
6. a. @O oaoar eoqaraf 016 96aJ qEoai zodzdoal a@ml q ?

What do you mean by the following terms?
i.6coig@ oqCeoce

Sampling error
ii. @po oqCeoco

Measurementerror ( 8 marks)
b otocq gcrJarcO@cozs: cq<fit"a o@czlOcq ?

What are the qualities of a good questionnaire?. ( 6 marks)
c. oon eoqooJ ql oOerlzo:d qnlOolzr.

Differentiate the following
i. gcd@zo: qnln oc {E68zo: qa}a.

Primary data and secondary data.
ii.6cop oe@a'Jecce eoto gOczl es@nJee6ce.

The pilot suryey and Main survey. (6 marks)



eJobi eoE62tJ Q1e3Q?Dc ozo:3 esOsrrrJ @o:?'lm.
Write short notes for the following

q gddoc0 co zor glSzl cs eeo ooOzo, 618zo zo gl8 zl co

Null hypothesis and alternative hypothesis
gnle>@ce 6@carzorc^r aoc gcafndco 6@corzoo
Point estimator and interval estimator
eodg qor@ 6co1QO

Simple Random sampling
escoeinle eo.a)scztco toc esgtocErrcO

Relative frequency and probability (5 marks each)

,<{<*t {.


